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Q.1 A) Choose the correct alternative. (5)
1) The algebraic expression in one variable is a polynomial if the index of the variable of eachis a ...............
2) If any index term is missing in the dividend, assume the co-efficient of the term to be .............. .

3) 4ax3al=.......
4) 4x x 0=
5) 2X — (-7X)=2X+7X = oiiieeeee.
B) Answer the following questions (5)
1) Division of a monomial by a monomial
4x + 12x3
2) Division of a monomial by a monomial
(-15a%b c?®) + (3ab)
3) In the given figure if line a || line b line [is a transversal then find x.
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4) Compare the following numbers : -9 and -6
5) Division of a monomial by a monomial
(-20y°) + (-2y°)
Q.2 Attempt the following questions. (Any five) (10)
1) Division of a polynomial by a monomial
(25m* — 15m3 + 10m + 8) + 5m3
2) (16a°-8a?) + 8a
3) Draw aline m. Draw a line n which is parallel to line m at a distance of 4 cm from it.

4)

-72x3y2 by - 8x2y




Q.3

5)

6)

1)

2)

The number of Science and Mathematics projects submitted by Model high school, Nandpur in last 20

years at the state level science exibition is :

2,3,4,1,2,3,1,5,4,2,3,1,3,5,4, 3, 2, 2, 3, 2. Prepare a frequency table and find the mean of the

data.

Compare the following numbers.
1 7

5
121
Solve the following questions. (Any four)
(6a%-a%- 10a-10) + (2a - 3)

Observe the following graph and answer the questions.

..... Scale :
On Y-axi : 1Tcm =10 %
I:] Production of Tur
|:| Production of Gram
Y
A
100
LAYAY
E |
K} 90+
k=
S 86
= -
3
3
g 70T
Is]
o 66
j1]
5
8 |50
(7]
o
AN
b Av
30 —
o Ya
r-av)
10+
<X . . : . L
Ajita Yash Ravi i Sudha i
I 0 I
Farmer
Y

i. State the type of the bar graph.

ii. How much percent is the Tur production to total production in Ajita’s farm ?

(12)



Q.4

3)

4)

5)

1)

2)

3)

iii. Compare the production of Gram in the farms of Yash and Ravi and state whose percentage of
production is more and by how much ?

iv. Whose percentage production of Tur is the least?

v. State production percentages of Tur and gram in Sudha’s farm.

In the given figure line a || line b, line [is a transversal. Find the measure of Zx, Ly, Zz using the given

information.
a b
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Show the following numbers on a number line. Draw, a separate number line for each example.
-5 11
8 ' 8

(6p> - 11p?+ 7p + 5) + (2p - 3)

Answer the following (Any two)

The following data is collected in a survey of some students of 10t standard from some schools. Draw
the percentage bar graph of the data.

School 1st 2ond 3rd 4th
Inclination towards science stream 90 60 25 16
Inclination towards commerce stream 60 20 25 24

Write the following rational numbers in decimal form.
—65
21

In the given figure line p || line g, line (|| line m find measure Za, Zb and Zc using the measure of given
angles. Justify your answer.
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